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Directions: 
In  the  following  questions,  a  sentence/  part  of  the 
sentence is printed in bold. Below are given 
alternatives which may improve the bold part. Choose 
the correct alternative. 
 
NOTE: In case no improvement is needed, your answer 
is No Improvement. 
 
1)  There  is  nothing  wrong  with  having  to  a  different 
opinion. 
a) have to  b) has to 
c) having  d) No improvement 
 
2) He is adequately provided for the necessities of life. 
a) by   b) to 
c) with    d) No improvement 
 
3) I hadn’t seen my friend for twenty years, which is, 
certainly, a very long time. 
a) may be  b) are 
c) were   d) No improvement 
 
4) Many accidents at the factory are caused of workers 
do not read warning signs. 
a) are caused because 
b) is the cause of 
c) are caused by 
d) are a cause of 
e) No correction required 
 
5) We have been look forward to the arrival of the new 
machinery for two weeks. 
a) looking forward to 
b) looked forward for 
c) looked forward at 
d) looking forward 
e) No correction required 
 
Directions: 
In  the  following  questions,  a  sentence/  part  of  the 
sentence is printed in bold. Below are given 

alternatives which may improve the bold part. Choose 
the correct alternative. 
NOTE: In case no improvement is needed, your answer 
is No Improvement. 
 
6) In order to control rising prices the government has 
restricted the export of certain commodities. 
a) By controlling rising 
b) To control the rise 
c) In control of raised 
d) For control of raised 
e) No correction required 
 
7) A person or thing that is likely to cause harm 
a) Menace  b) Cordial 
c) Festal  d) Blithe 
 
8) He was so afraid that his knees knocked one another. 
a) one against  b) each other 
c) both    d) No improvement 
 
9) When she regained consciousness she was stretched 
in the ditch out, soaked to the skin. 
a) out in the ditch stretched 
b) on the ditch outstretched 
c) outstretched in the ditch 
d) No improvement 
 
10) He must being overwhelmed with the responsibility 
a) been   b) has been 
c) have been  d) No improvement 
 
11) Irritating inconvenience 
a) Tranquillity  b) Hassle 
c) Harmony  d) Rectitude 
 
12) With no rain and any access to clean water many 
farmers will lose their crops. 
a) There is no rain and no 
b) No raining and no 
c) Without rain and nor 
d) Without any rain or 
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e) No correction required 
 
13)  After  several  years  of  silent  suffering  he  finally 
decided to put himself against the manipulations of his 
political rivals. 
a) set   b) stand  
c) fight    d) No improvement 
 
14) It Is proposed to construct a bath for males 99 feet 
long. 
a) a 99feet long bath for males 
b) a 99 feet long males bath 
c) a males bath 99feet long 
d) No improvement 
 
15) My mother is worried about my fathers health and 
also I. 
a) I also   b) also me 
c) so am I  d) also I am 
 
16) He backed out of the agreement. 
a) gave his full support 
b) reconsidered the point 
c) withdrew his support from 
d) went through the back door 
 
17) Many animals had been using for experimentation. 
a) are using 
b) have been using 
c) are being used 
d) have being used 
e) No correction required 
 
18) Even after talking the matter for hours we could not 
arrive at a decision. 
a) talked about   b) talking to 
c) talking over  d) talk through 
e) No correction required 
 
19) Our hope was that he would not enter college till 
he had had some grounding in science. 
a) had to have some ground of 

b) had some ground of 
c) had had some ground for 
d) had been having some ground in 
e) No correction required 
 
20) He had his breakfast, when we visited him. 
a) He had taken his breakfast 
b) He wished to have his breakfast 
c) He avoided his breakfast 
d) No improvement 
 
21) He was rejected because he was too young. 
a) so   b) hence 
c) though  d) No improvement 
 
22) He will not risk going for business with you. 
a) going in  b) to go for 
c) going into  d) No improvement 
 
23) With order to help outstation candidates planning 
to move to the city, a few colleges load their 
application forms online. 
a) In ordering to b) Along with order to 
c) As order in  d) In order to 
e) No correction required 
 
24) Corrupt officials have siphoned off more them five 
hundred crore rupees over the last decade from 
welfare funds. 
a) away   b) up 
c) in   d) No improvement 
 
25)  The  bigger  dilemma  facing  these  mega  stores  is 
how to retain customers after the novelty wear thin. 
a) wears thin.  b) cools down. 
c) wears off.  d) No improvement 
 
26) Would you mind to carrying this bag for me. 
a) to carry  b) carrying 
c) carry   d) No improvement 
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27) He parked his vehicle under the shade of a tree. 
a) on   b) in 
c) beneath  d) No improvement 
 
28)  The  help  given to  us was more  adequate  for  our 
purpose. 
a) much adequate 
b) enough adequate 
c) more than adequate 
d) No improvement 
 
29)  The  issues  were  so  complicated  that  they  could 
hardly be resolved in such a limited time. 
a) were being hardly resolved 
b) were hardly to resolve 
c) could resolve hardly 
d) were hardly resolving 
e) No correction required 
 
30) The names of the defaulters have been cut off the 
register. 
a) struck out  b) cut out 
c) struck off  d) No improvement 
 
31) If you want to complete this important assignment 
on time you must carefully planned. 
a) carefully planning 
b) careful to plan 
c) plan carefully 
d) planned carefully 
e) No correction required 
 
32) The population of Tokyo is greater than any town 
in India. 
a) of any town  b) any other town 
c) that of any town d) No improvement 
 
33) When we saw him last, he ran to catch a bus. 
a) has run  b) was running 
c) had inn  d) No improvement 
 

34) Had Alizee been well, she could participate in the 
competition. 
a) will have participated 
b) would participate 
c) would have participated 
d) No improvement 
 
35)  His  changed  attitudes  did  not  go  well  within  his 
family. 
a) could not go well into 
b) had not gone well within 
c) went not well within 
d) did not go well with 
e) No correction required 
 
36) After we hear the news of the floods, we 
immediately decided to join in the relief efforts. 
a) Upon hearing that 
b) On hearing 
c) While we were heard 
d) Since we have hear 
e) No correction required 
 
37)  Being  tolled  for  two  hours,  he  sat  down  to  take 
some rest. 
a) Having tolled for 
b) Having to be tolled at 
c) Had tolled for 
d) Have tolled for 
e) No correction required 
 
38) My sincere advice to him is in pursuit of his 
education instead of taking up a job. 
a) in pursuing 
b) to pursue his 
c) in the pursuit of his 
d) to pursuit in his 
e) No correction required 
 
39) All that I wish to tell you is that you better revise 
this essay. 
a) had better  b) should better 
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c) could better  d) No improvement 
 
40) Highly intelligent people seldom tolerate any 
ambiguity. 
a) hardly tolerate any lacuna 
b) tolerate any clarity what so ever 
c) hardly tolerate ambiguous 
d) tolerate hardly any ambiguity 
e) No correction required 
 
41) You must be mistake. 
a) be mistakenly b) be mistaken 
c) be mistook  d) No improvement 
 
42) Besides criticism of some supervisors the Chairman 
still commands respect from the employees. 
a) Except the criticism from 
b) Despite criticism from 
c) Without criticism of 
d) Unless criticism of 
e) No correction required 
 
43)  Balding is  much  more common in males than 
females. 
a) at males then females 
b) at males than females 
c) in males then females 
d) in males against females 
e) No correction required 
 
44) Too little is known by this time about possible side 
effects of the drug. 
a) presently  b) In the end 
c) before hand  d) No improvement 
 
45) English opens the window upon the worlds 
knowledge. 
a) the English 
b) the English language 
c) the English land 
d) No improvement 
 

46) He proposed meets me at the temple. 
a) for meeting  b) to meet 
c) meeting with  d) No improvement 
 
47) No one knows how he escaped dash to pieces. 
a) being dash  b) being dashed 
c) dashed  d) No improvement 
 
48) These days mobile phones dominated the world of 
teenagers. 
a) has dominated the world. 
b) is dominant the world 
c) has been dominated the world. 
d) dominate the world. 
e) No correction required 
 
49) We eat that we may live. 
a) might  b) shall 
c) should  d) No Improvement 
 
50) The new airport is under construction and likely to 
operational in two years. 
a) likely to be 
b) likely will 
c) will be likely 
d) in all likelihood being 
e) No correction required 
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